ZJOI 2015 Day 2
Zhejiang, China, May 22, 2015

Problem B. &Y% )38 2

Input file: mincost.in
Output file: mincost.out
Time limit: 3s

Memory limit: 256MB
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Input

FAT I IERE S, m,  RORERI RO AR

BT RnAT, FidT =AM Mais by ¢ FORTERRP SIS EIE R R %L BB,

B ok —1rmANEL KU BRE 2 difH
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Output

W AT RN E R Z B2 THE GEE RGeS, BRI,

Wt — A7 RN B NE R ), TEROX R AL, A SR e /bR R (0% HH0/1).

Constraints

XHT30% % : Frfia; = 0.

XT3 30% MR : B2 S BE< 1000

X 100% M5 : 1 <n <100,1 <m < 100,

XTEAEEE, 0 < a;,bi,ci,d; < 3SHAZBE. RN TG o + b > 0, EIEOHEANE
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1$500%%.

R RAT AR, XTI B A AN IR EBEX < 1012, FEASAEE DR ILE, AT B AR L
MR AREZ L X TR

Example
mincost.in mincost.out
10 10 8
023 42/1
232
313
121
101
110
330
122
311
310
3122311220
0000000100
0000000O0O0O
0000100000
0001000000
1000100000
1010000110
0000000O0O0O
0000000O0O0O
0010001000
0000010010
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